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BUDHA DAL PUBLIC SCHOOL PATIALA
FIRST TERM EXAMINATION (21 September 2023)
MATHEMATICS

Class = V111
(Set = A)
Thare Allowad: 3 hous Maxtmum Marka: 80

Tastructions N
L AllQuestions are compulsory,
2 Saction = At QINOT to 6 carry T mark each
X Saction = B QNo, Pto 12 \.m'yi‘. marks each \
4 Saction = Ci QUNo, 13 to 22 carry 3 marks each
S Sxction - Dy Qo 28 to 30 carry 4 marks each

SECTION-A
Bind the vatue of (20 + 5“) N¥a 1
Sahe Se+ 9 =8+ ) \ :
Name & qu::drilak\ml whose diagom\ls are equal, : ‘1
1 N ;
Wik additive inverse of =— 3
N
Express 109 as sum of 18 odd numbers, 1
Express 517 78000000 in the standard form, \ . 1
SECTION-B
Name the property under multiplication used in the tollowing: b
=17, =3 _ =3, -17
> — ‘0 \
VYJmX 7710
18 , 28
b— X —=
a8 -18

Selve the following and check the result eda
8x+4=3(x-1)+7 :

2

SR N . {e 4
2) Stmplify and write the answer in the exponential form (=3)* x (%)
: 1) 2 N2\
b) Find the value of (; + (-5) + (:)

3136 plants are to be planted in a garden in such a way that each row contains as many plants 2
as the number of rows. Find the number of rows and the number of plants in each row,

A-I
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11.

12,

13/

Tl number

e 14,

15,
16,

17

'18.,

, ' i
‘RUNS’ is a parallelogram. Find x and y % ‘i“ 2
, JE 26 IN
33C 18 \
R |
B — U :
a) Find the product of x X x2 x x3 x x* 8& l b2
'_'b) Add ab — b, bc—ca, ca—ab *o
_ _ SECTION-C !
a) Write a Pythagorean trxplet 1f one number is 18. , , 3
) Fmd the smallest number by which 2028 should be multiplied so as to get a perfect square i
Solve the follbwlng linear equation:  x - xT_l B 1.-3;—2 3
a) Simplify (a+b+c) (a+b-—c) P 3
b) Subtract 5x2 — 4y2 + 6y 3 from 7x - 4xy + 8y +.5x— 3y
.~ Find the amount and compound interest on Rs 7000 for 2 years at rate 20% per annum 3
, compounded annually. ' , : 4 5 l
State true and false : 3
a) All thombuses are parallelogram.
- b) All square are trapezwms :
: c) Mlmmum interior angle possnble fora regular polygon is 90°.
_ Fmd the smallest square number that is drv1sxble by each of the numbers 8,15 and 20. 3
‘Consider the followmg parallelogram ABCD 3

T
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and find the values of unknown angles x, y, z

1 o gt

i
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:20.- [ill in the blanks : - ' ' l ' . 3

TR LA 4 .
a) The multiplicative inverse of 3 08

b) Zero has reciprocal
~¢) Thereare rational numbers between any two ratlonal numbers.

Wospat e T 3-5x1075%125 " S . )
1 - ' 3
= Slmphfy e ! 7

22.  The cost of an artlcle at a shop was Rs. 450. The sale tax charged was 5%. Find the blll 3
' ~amount.
_ s;-:cnomp :
3. . -8 1 ‘ :
-3 Find —X == A= s = >< . by usmg approprlate properties. : T w _4 :

15 7

: 24.  Find the least number.that must be subtracted from 5607 so as to get a perfect square. Also 4
: find the square Toot of the perfect square. A ) : ' i

25.. a) Sxmpllfy and: evaluate 3y (2y 7) 3 (y 4) - 63 fory =1 £ ' o 4

b) Obtam the volume of a rectangular box with length, breadth and helght as 2p, 4q, 8r - i
' ‘26‘.7 = a) How - many sidés does a regular polygon how if each of its interior angle is 165° : i 4

"~ “b) Find mzc if AB || DC

| N
V4
27. . Solve 5x—2(2x~7) =2 (3x— 1) + o ~1a g
| |
28. a) 72% of 25 students are interested in Mathematics. How many are. not interested in 4
Mathematics? - :
b) Conven 2: 3 into percentage.
s, L . Case Study Questlons
29, A teacher shows 4. articles of different lengths in a class. The difficulty is that the lengths are in 4
' exponentlal forms. The lengths of articles are as follows
Article 1 = 2, %5"
Atticle2 = 2x 2% x 1
~ Atrticle 3 = (2°42+1)

"Article 4 = 32

.fl =3
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i 'A 4G In an e\ammanon 300 students appeared Out of these. students 70% got f rst division, 25% 4

Answer the folloWing: L _ - - : %
1) Whatis the length of 1* article? - ‘ A |
A9 Be 98 2 .. (7 , \

: \

.

2) What is the sum of lengths of all articles?
' a) 23 b)2 08 . d)4

3) What is the product of lengths of articles 1 and article 39
©oa) 2 - b)8 c)9 d) none

4 What is the ratio of lengths of 1% and 4™ article?
T a) 2:9 .b)28 C04:9  d)1:2

_got.second d1v1310n and the remammg Just passed. Assummg that no student failed.
Answer the followmg

) How manystudents gotl d1v1510n‘7 :
a). 75 b)300 c)2i0 d) 25

' ~2) How many students got second d1v151on‘7
» V'a) 210 b) 75 c) 25 d) 15

~3) Find the number of students who Jjust passed.
‘a) 15 b) 25 c) 50 d) none ¥

S 4y Fmd the ratio of students who have got 1% and 2™ division.
i a) 14 : 5 b) 70 :25 c)25:5 d) none
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BUDHA DAL PUBLIC SCHOOL PATIALA S '
FIRST TERM EXAMINATION (21 September 2023)

MATHEMATICS
) Class - VIII
. (Set - B) ,
Time Allowed: 3 hours Maximum Marks: 80
Instructions:
1. All questlons are compulsory.
2. Section - A: Q.No. 1 to 6 carry 1 mark each . e :
3. ‘Section - B: Q.No. 7 to 12 carry 2 marks each Lo g diEm
4. Section - C: Q.No. 13 to 22 carry 3 marks.each " i
5. 'Section - D: Q.No. 23 to 30 carry 4 marks each ;
- . SECTION-A | i
1. Express 9.248 X 1073 in usual form .
2. How many non square numbers lie between 112 and 122 1
: o -29 : 11
3 .Write mu]ﬁplicative inverse of Ty R
gk Name a quadrllateral whose dlavonals bisect each other ; 1
LLE Solve 2y —1= y+4 fiod i '_ A ¢ ' i _2_‘ ‘ " 1
6. Find the value of (2° + & +4°) 1
| | f sECmONB
7 a@)Findtheproductof Zx2x Zx i i tehd
b)Add.x'—'Zy,2x+3y,—y—"3x _ gy ‘ |
SR i i A o e ]
- 8.~ RENT isa rectangle. Its diagonals meet at O. I i (I .2
~ Find xifOT =x+5and OR =3x — 1 . {0
x9
i = N
9. A aardener plants 3364 trees in such a way that there are as many rows as there are trees in a
" row. Find the number of trees in a row.
‘ : : ‘ _3\§
20: e a) Simplify and write the answer in the exponential form (2)5 x (—23) : 2
'b) Find the value of 271 + 3-1
11. - Solve the following equation and check the result s ' 2
2 +3)+5=y+11 : g {
Pagelofl ' »8'. '
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12,0

13,

PN T

15,

- 16.

17.

S g

19.
- 20:

21:

‘Page2 of 2.

R Slmpllfy

- Find the compound interest and .amount on Rs. 8000 for 2 years at 5% per annum ; 3
-compounded annually. '

The cost of a book was Rs 350 The bookseller gave me 20% discount. What amount did I ‘

Name the property used in following

2 -3 5 2 -3 2 5
Q) =X [—+2| =S (2) 422
'1)‘.5><[4+7] sx(4)v+s 7

11 11
20 20

l)) ——-|- — = .

o ) SECTION-C
a) Simplify (x - y)(2x + y)
b) Subuact 4a® — b? + ab from 92 — g2 — 5qp

Solve tl_1e' following linear equation N m+ m—“ =2 mT"l ‘
a) erte a Pythanorean trlplet 1f one number in 12 2 R SR

b) Find the least number Wthh must be added to 1840 to make ita perfect square. ,_

zsxt“*"” . 4 . X ER
\ . . - . s . - : .
. 573x10x t-8 (71 : : ' I T r
Fill in the blanks : | e Ty
a) The additive inverse of < 4 e
b) is the 1dentlty for the addition of rational numbers.
c) Zero has : reciprocal '

Find the smallest square number that is d1v1sxble by each of the. number 4, 9 and 10 : 3

pay for the book? . :
Consrder the following parallelogram ABCD A S _ 3
and find the values of unknown angles x, y, z D B . ;

\r
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22/
23,
24,

25 .

~ 26.

27. .

. 28.

State True and False = *
a) All trapeziums are squares «

- b) All rhombuses are parallelogram °

. ¢) 'Maximum exterior angle possible for a regular polygon is 1200',

SECTION-D

Solve 3 (2x +1) —5x =3 @x —3) + =

a) Conven 3 : 7 into percentage.

b) If 65% of 80 people like ted and remammg like coffee, then find number of

coffee.

a). Find the number of sides of a regular polygon each of whose exterio

people who like

: e
r angle measure is 30"

>

b) In the given figure if AD I BC
“find the value of x ' .

~a) Simplify and evaluate 5x (8. + 2x)—2(3x—1)—23forx =1

b) Obtain the volume ofa rectangular box with length, breadth and height as 31, 4m, 2n
Fmd the smallest number which 720 must be multxplled to get a perfect square Also find the 4

square root of the perfect square so obtained.

58 2w, 8 5 3.1
Find —,>< = + - — gx -6- by usmg appxopnate propertles

" Case Study Questlons”
A teacher shows 4 articles of dlfferent lengths ina class The difficulty is that the lengths are in 4.

29,

Page3of3

exponential forms The lengths of articles are as follows:

Article 1 = 2x5°
Article 2 = 2x2%x]1
", Article 3 = (2%+2+1)

Article4 = 32

Answer the following:

l) What is the length of 2™ article?
98 20 4 d2

-3
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. \ | . " d
2) What is the product of lengths of article 2" and article 3 7 ' o ,
) 23 b)32 )20  d)40 , o

"'3) What is the ratio of lengths of 1** and 4" article?
a) 2:1 b)9:2 c)2:9 d)2:3

: 4) What is the sum of lcﬁglhs of all articles?
") 4 b2 - c¢)8 d)323

30,7 Inan t:'.\'amination, 500 students appeared. Out of these students 80% got ﬁr:st division, 15% 4
got second division and the remaining just passed. Assuming that no student failed.

- Answer the following:

1) How many students got 1** division?
T a) 320  .b)420 ¢)300 - d)400

2) .H_ow many students got second division?
a) 75 b) 57 c)15. d) 80

3) Find the number of studehts who just passed.
a) 15 b)20 . c)25. - d) 52

4) Find the ratio of studerits who have got 1* and 2™ division.
a) 16:3 . b)3:16 . ¢)20:3 d) nore

. I'Pége4of4'_. P B-—Lf .
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